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-- import Data.Ratio
-— import Numeric
readFloat’ :: (RealFrac a) => ReadS a

readFloat’ r = [(fromRational ((n%1)*10""(k-d)), t) | (u, d, s) <- readFix r
, (k, t) <- readExp s] ++
[(0/0, t) | ("NaN", t) <- lex r] ++
[(1/0, t) | ("Infinity", t) <- lex r]
where
readFix r = [(read (ds ++ ds’), length ds’, t)
| (ds, d) <- lexDigits r
, (ds’, t) <- lexFrac d]

lexFrac (’.’:ds)

lexDigits ds
[(llll, S)]

lexFrac s

readExp :: String -> [(Int, String)]
readExp (e:s) | e ‘elem‘ "eE" = readExp’ s

readExp s = [(0, s)]

readExp’ (’-’:s) [(-k, t) | (k, t) <- readDec s]

readExp’ (’+’:s) = readDec s

readDec s

readExp’ s

x :: [(Double, String)]
x = readFloat’ "3.14"

y :: [(Double, String)]



y = readFloat’ "1.23e-5"

main = do print x

print y
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*1 https://wiki.haskell.org/Euler_problems/1_to_10#Problem_4



